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1. If ABCABC; where A, B, C, D 1. 7f3 ABC x DEED = ABCABC W&l A, B, C, D

and E are different digits, what are the aﬁzsﬁma’lﬂs'&,a}oeﬁvetﬂﬁmﬁ
values of D and E?

UPSC-2015 @) D=2E=0
(@) D=2,E=0 (b)D =0,E=1
(b)D=0,E=1 (00\ X 192 _A)D=1,E=0
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3.

In a certain code, ‘256' means’ red colour 3. & Afda &1 7 ‘256" &1 Y &7 T

chalk’, ‘589" means ‘green colour flower’ GG t, '589' BT Y B ' I8 t AR
and ‘254’ means ‘white colour chalk. The ‘254" BT (Y THg IS ¢1 I9 B A
digit in the code that indicates ‘white’ is The B gﬁ‘m—i:zﬁ aATAT 3P BIH-9T1 272
UPSC-2017
(a) 2
(a) 2 a/
) CHd M?&X é (b) 4

@s <X T 89 pus
(d) 8 @%2\2\X4 (d) 8
iz -
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4. If LSIXVC is the code for MUMBAI, the 4. uﬁ MUMBAI & f?rd Hc LSIXVC %, @

code for DELHI is 3% 91 DELHI & ford o 8-
—PSC-2018

(a) CCIDD @@ T3 19D
meokeh MU A | %ﬁﬁ':;.b*a ity

s B g & () ccFG —| -2~ —F~S

(d) CCIFE b (d) CCIFE
an e g o VO




5.

f RAMON is written as 12345 and 5. 4f& RAMON ®Y( 12345 % ®u & aul

DINESH as 675849, then HAMAM will be DINESH T 67§849)% wu # féran wran 2,

written as a’tmwmm’iﬁmwﬂﬁmmv
UPSC-2018

(a) 92233 @92233 I3 - 00 88

(b) 92323 92323 —~

(c) 93322 (c) 93322

(d) 93232 (d) 93232



6. If every alternative letter of the English
alphabet from B onwards (including B) is
written in lower case (small letters) and
the remaining letters are capitalized, then
how is the first month of the second half

of the year written?
(a) JULY ‘ U | b/
(b) jULy J

(c) jUly
(d) jury

6. uﬁsﬁmﬁmmm

TP UPHIaT &R DI AR (Faw )
# forar oie 3R 9 3aRY B 72 R A
fera wire, ot ad & I & UYH A &t




7. The letters from A to Z are numbered 7. AR Z TP & Ul 1 ¥ 26 0P $H HHITPd

from 1 to 26 respectively. If GHI =1578 f¥2 e 81 afe GHI=1578 3R DEF =912

and DEF = 912, then what is ABC equal ﬁ,a’imﬁg&rguﬂh 8

to? v *3- = |S 7
UPSC-2020 @as2 G H |

(a) 492 468 4-sCx2 = A1

(b) 468 AL C @262 VLT

(c) 262 \ - W WA Q‘f-é é}/i/«s

(d) 246 —



8. What is the missing term @ in the 8. ﬁuﬁ‘g?sg‘a@mt?
. : BESU:: MNGI: @
following? ACPQ: BE
ACPQ: BESU:: MNGI: @ OGO
UPSC-2020 (a) NPIL @ @ @
(a) NPIL (b) NOJM M ‘\\ G\ ‘
(b) NOJM (c) NPIL Y r ] +4

.\_
¢) NPIL /ﬁ) NPJM T \ 5
o i ®©6X1?)



9. In a code language ‘MATHEMATICS’, is 9. U® $Pc-UT9T H MATHEMATICS' &I

written as ‘LBSIDNZUHDR'. How is 'LBSIDNZUHDR' & ¥q ¥ for@r sirar 21
‘CHEMISTRY’ written in that code I Pe-HT9T H 'CHEMISTRY &I $a forar
language? SiIg ?

UPSC-2021 -2021 QU CED)

C
(2) DIDLHRSSX () = € OGO E “ (a) DIDLHRSSX M G\IJ‘-\ !‘:+ﬂ"\ f\\ IJ‘H S\.
ﬂﬁIDNHTSSX C \'\ E m \ ST 7/ (b) BIDNHTSSXL A DR
" 6Y0Y¢ o - O)E 3

(c) BIDLHTSSX -y 41 (c) BIDLHTSSX

(d) DGFLIRUQZ @ @ @ D Q Cﬂs}@ ‘DGFLIRUQ
B\ DNHTIS X
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1. &t wan d auar 9t 3@ IW @ 1. In the class Mamta's Rank is 21st from

T ﬁ@ ¢ o 9arsd Fam # od the top and 15th from the bottom. How
e faemdi 82 \ many students are there in the class?

(a) 29 (a) 29

(b) 36

r(b) 36

(c) 27 | SeXK -21df 1 (©) 27
\}7{35 (d) 35

Al +H1§ = %6" | :@







2. Ofe A S | 124 W W 3R @ 2. If Rahul is 12th from the right and 4th from

MR I | T R W T4 U® HarR d the left then how many more people should
3R fra & &t SIIST WY a1 AR be added in a queue so that the total
;| | EIW ? @ number of people in the queue becomes 28?
(a) 12 (a) 12

(b) 14 & :L (b) 14 3\8 ,_\ C= @

(c) 20 ‘Q (c) 20

(d) 13 a (d%B




AT \do(?ﬂ a5 a= 441}% ’ifﬂl‘q’?\?%
¢t = mtﬁhﬁ AT AT

‘TT’(}(\H‘



3. UP H&T & Iuivl gu faenfdal &t &t # 3. Rajan is 11th in the list of passed
IS BT VI 1131 g 3R A1 3t 3R | 78

31 § = R 81 @ Reroden & it

aﬁgqaﬂ?@ﬂ?ﬂvfs’rmml e o

od fbad B 82
(a) 32 £Y %—\\a’
(b) 42 \

45

students of a class and he is 31th from
the bottom. Three students did not
appear in the exam and one student
failed in exam. How many students are
there in the class?
(a) 32

(b) 42

(d) 46
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4. s3faanfiai St us Fen AT HIIF 581 4. In a class of 53 students Jaya's rank is

T, 1 T 51 BT I T B ? 5th, what will be her rank from the
(a) 4941 bottom?
(b) 483 $i\°\ AT A9th
G A
(c) 474 @ (b)ag® S

(c) 470

— S
(d) 504t . -
@sor 48 +(1)= )
—
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sa\oﬁaﬁﬁaﬁwﬁﬁaﬁwmmm 5. In a row of 20 students Jatin is twelfth
iﬁ? | ’QR'G'HT % AR o wfaq & W from the left end Yogesh is 5th to the left

Urad RIF W gl EI'Q‘ BR A TN BT R of Jatin. Find the position of Yogesh from
FTd Do ? the right end?

(a) 14 (a) 14

(b) 13 (b) 13

(c) 12 (c) 12

(d) Fl'ﬁ 3| aﬁﬁ qﬁ (d) None of the above






6. 35 @I B TP Ul A sR A 3@ 25a1 6. Inarow of 35 peoples Dev is 25th from the
2139 3R 3e/g & d19 g9 @ 2| 39 9 right end. Ten peoples sit between Dev and
9t &1 @ I P R 21 SR B A Ajay. All of them are facing North. Find the

ST P YT JTd m@ position of Ajay from the right end?
@15 4 1 (a) 15
(b) 14 \ (b) 14
(c) 16 IS (c) 16

(d) JTd q’é’fﬁﬂﬂ ol Hhdl Q g___\ \ ¢ annot be determined
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